L’ Arrondissement (H)

5449

3398

2459

98 860

24 091

158 589

381726

519 180

7592

4319

1285

44 588

17320

999 189

538073

111418

1920

1823

55 888

56 802

66 857

639471

118553

6771310

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

3429

6 650

32630

57389

85562

116776

923233

8720274
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L’ Arrondissement (H) Solutions

5449
5000

3398
3000

2459
2000

98 860
99 000

24091
24000

158 589
159 000

381726
382000

519180
519000

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

7592 1920 3429

8 000 2000 3000
4319 1823 6 650

4 000 2000 7000
1285 55 888 32630

1 000 56 000 33000
44 588 56 802 57 389
45000 57 000 57000
17320 66 857 85562
17000 67000 86 000
999 189 639471 116776
999 000 639 000 117000
538073 118553 923233
538 000 119000 923 000
111418 6771310 8720274
111000 6771000 8720 000
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